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Il Semester B.Com. Examination, May/June 2014
(Semester Scheme) (2012 - 13 & 0nwards)
COMMERCE (Fresh+Repeaters)

Paper — 2.6 : Quantitative Analysis for Business Decisions — |

Time : 3 Hours Max. Marks :100

Instruction : Answers should be written completely either in English or
in Kannada.

SECTION - A

Answer any ten sub-questions. Each carries two marks. (10x2=20)

a) What is an inclusive series ? Give an example.
b) Mention any four functions of Statistics.

c) Define the term mode.

d) State any four requisites of good average.

e) What is standard deviation ?

f) What is Base Year ?

g) Give the meaning of Factor Reversal test.

h) What is an Index Number ?

i) Wh”y index numbers are called Economic Barometers.
i) What is qualitative classification.

k) Mention the parts of table.

) State any two merits and any two demerits of standard deviation.
P.T.O.
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SECTION-B

Answer any four questions. Each carries eight marks. (4x8=32)

2. Find mean deviation from mean from the following ;

Income )
(Less than) 500 | 1000 | 1500 | 2000 | 2500
No. of 20 £ ) s e
Persons

3. The following data relate to monthly expenditure of two families A and B.

ltems Family A Family B
Expenditure (¥) | Expenditure
Food 160 100
Clothing 80 30
Rent 60 40
Fuel 20 10
Others 80 20 5t

Represent the data by a suitable percentage diagram.

4. Rainfall for a month as recorded in an observation is as follows :

Days Sun. | Mon. | Tue. | Wed. Thur.. Fri. | Sat.

Rainfall in
mm

87 63 74 56 62 85 73

If there are 5 Mondays, Tuesdays and Wednesdays, 4 Sundays, Thursdays,
Fridays and Saturdays calculate the daily average monthly rainfall during the
month.
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5. Calculate Median from the following series.

Class | o 41 5_9 |10-14|15-19|20-24] 2529 |30 -34 | 35 - 39
Interval
Frequency | 05 13 23 35 26 18 15 08

6. Construct the consumer price index number for 2007 on the basis of 2002, from
the following data using family Budget Method.

CRimRy Conizz:do?:;OOZ 2002 s mzoo*z
A 12 50 60
B 8 40 45
C 4 70 80
D 9 70 90
E 5 20 40
F 2 200 200

SECTION-C
Answerany three questions. Each carries 16 marks. (3x16=48)

7. Convert the following distribution into more than cumulative frequency and less
than cumulative frequency and find the median graphically. And also verify the

result of actual calculation.

Wages () 0-20| 20 -40 | 40 -60 | 60 —80 | 80 - 100

No. of Workers 82 112 150 95 48
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8. Calculate Karl Pearson’s co-efficient of skewness for the following frequency
distribution of profits earned by 100 partnership firms during the year 2013.

Profits (in T '000')

No. of Partnership Firms |
|

More than 10
? 20
" 30
y 40
i 50
" 60
- 70
" 80
! 90

100 ‘

97
90
70
40
25
15
08
03

9. With the help of following data, calculate Fisher's Ideal Index Number and prove

that it satisfies both Time Reversal Test and Factor Reversal Test.

Base Year Current Year
Commodities Price per Total Price per Total
Unit Expenditure Unit Expenditure |
1 2 40 5 75
2 4 16 8 40
3 1 10 2 24
4 5 25 10 60
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10. An analysis of monthly wages paid to workers in the firms A and B belonging to
the same industry gives the following results.

Firm A FirmB
No. of Workers 500 600
Average monthly wages (%) 480 475
Variance of distribution of wages (%) 400 625

a) Which firm pays a larger wage bill.
b) In which firm is there greater variability in individual wages.
c¢) Find out the combined Average Wages of the two firms taken together.

3R 033

NTIN - D
CIRFYTTTLR BB YVT-TINOT YUZOR. B T ST 90BN, (10x2=20)

1. a) wInedE A0 (Inclusive Series) H0BBeRD ? NUEHTE G,
b) Foa, Emfocﬁ eVt faniateln) T, TDODF r\’@fﬁab DR,
C) RRTO ITIFD 0TI ?
d) &VZEO RTIRO0T T, VFLANTR), SR,
e) QQFM BEOTINE DOWTERD ?
f) &350 IRF 030 2
) BRI DEedr el Toes, (FRT) osdesd ?
) R Bosd DOTTERO ?
i)
)
)
)

i) Rl Road, NYO BSHFT REWNTO T 9

g
h

j) TOFRgE SNF 800 0TTERD ?
k) 2ReREE tronne), B0R.
1) ROFE BEITIVFOI CBRTTOETR TS TN, TN WRROLNYI), BAOR.
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CCRYTOTWOR T, TINET SUZOR. B 303ROTIER, 0L 0T,

(T

(4x8=32)

2. B3 B3NS W&S03 FTRD zédada&')ﬁa:bdg{ €I0BNESS FTOROOD TAURLT BORD BOY.

weob (88.) | 500 | 1000 | 1500 | 2000 | 2500
(3:3ER)
ane dos 20 35 50 80 100

3. B3 TINT T&I030 A 30283 B 22020 8D B0e30000n8 Sons 80236 7 Bowoimeitosa.

dz’gﬁe;o A BED0WT 0eds
35500 160
2083 80
ed
RN 60
Q0B 20
933 80

a’be@ddd& AT Sermomotd 5%033@; 3RCOR.

4. 2000 onvIY, WP TSre FENT08TIZC.
Sodod B=e9

asned
ADINORIo]
ARETOTDO
ong=ed
LOT0
notoz»d
20890
D0

87
63
74
56
62
85
73

B sot3o0wws dwde

100
30
40
10
20

e D

B0edT SoNOTY, 5 RRemIeI0T, WINPT TINR WIGDITAL 308 4 270w,
MOS0, B80T TN BTNTTS SoME sOF0 FTIRO TFIREDBRI, FOTD LBOID.
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5. 8 3INTHOOT RGBT Fom> LR,

Sne 0-4| 5-9 |10-14|15-19|20-24| 25_-29 | 3034|3539

&'35&8 afe)

o

05 13 23 35 26 18 15 08

6. 2007 T e ARUR0BIIR 2002 T Sa0E doed, Bokadow) 90m0nRd Naptialg

FOBIEROD.

SRR 2002 39 S=Hne uS
WHEoD I mm 2002 2007

@ 12 50 60

w 8 40 45

2 4 70 80

& 9 70 90

A 5 20 40

ST 2 200 200

NN —
BSND 03 TTITIR SN wé’n’@r’ NI0R. B33 ::;agtﬁ 6 e208neh. (3x16=48)

7. %@’ﬁddﬁo IRT* R ToNnR S5° R efuju%cmah 2TICDOL, azbc;%éﬁmq Jeamsdm
TAROT oD &BOO TN e:ada’aq ﬁ@e@ﬁ;.

FORMTT ﬁo@% 0-20 20-40 40-60 60-80 80-100

2590 (S5 82 112 150 95 48
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8. 833N BEEWOT, FOCFF LODV R TRT MOTEF 238, OSCI FORD &BAD.

zf:ﬁ ﬁégj)w oA Foad
10§03 353), 100
20 » 97
30 , 90
40 » 70
50 7 40
60 25
70 15
80 ” 08
90 03

9. 33 BPNT DHE&S00T, VRO TRT LTI ﬁmzsaagoéddgt FoBOBRE) D TRT &8)
FRT mfs% BRBARITTS 0T FHBRO.

sigltels IHOT DRE TR SR
- BIIBAUS | e sedor | BSTRITUS | i), Dede
1 2 40 5 75
2 4 16 8 40
3 1 10 2 24
4 5 25 10 60

10. A 2533 B Z3n9d, 3ortd 300 Snted 81 39NF0333,

FORNOTO ﬁo&jﬁ
RooR0 8ons 3O (3R.)

3RO HOWFOD 2383&-’? an. )
a) iRz 3 AJON ﬁ'&i‘) © QeEo8 9

b) CARBRFODHE 3ed BoritoHe) k), IR ?
C) AT Noﬁm 230, ROORO %’.ra@abﬁazéoab BG00.

2L

Se?

475
625




